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Elimination Notes

Elimination Method: Part 1

e Line up the two equations in Standard Form. 4)(4 g/l/ - C

Choose either the x’s or y’s to cancel — you want the o &44/ 1 LA %j
(the number out front) to be 7%4 el
g/[M//iW the variable by adding or subtracting /e & ol
/ gechoas

o Addit_TAL 5/(/245 AL OIVIﬁQj/%@

o Subtract if 'él—é 594/%5 @are '@ Sam&

Solve for the one remaining variable

- an
.S VA£7ZI %07[ £ back in Mequation to solve for the other variable
Express your answer as a point (A, V)

Example 1: @ g//'n,'/\g/é y
X — =7 ‘11 . /l5 —_—
Z;/ @ Dgposcit s g/ Ao

3X£2y=5

97[:/;\ //{2} =/
e
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Practice 1:
+2y=2
— —4y=14
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Elimination Part 2: Make the coefficients be the same through multiplication.

{2x+2y=6
3x—y=5

Step 1: Put the equations in Standard Form

Practice 1:

Step 2: Determine which variable to eliminate. Is it easier to make 2 become 3 (z) orl

become 2 (ﬁ)y

/”l//-//'fﬁ @ 5}/ <
Step 3: Multiply the ENTIRE EQUATION and then add/subtract. Solve.
x +24 ’Lj — Ax iy =6
5

37('}= 1+

/6
i 4

- -

Step 4: Plug back in to find the other va e. ‘ X = 2 .
. . ‘ / .

iy

«)

X. ot
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Practice 2:

{x=—4y+7 @

4x -3y =9 @

Step 1: Put the equations in Standard Form
( ) xY—> YA tlby = AF

Step 2: Determine which variable to eliminate. Is it easier to make 2 become 3 (y) or 1

become 2 (x). / q« - /?
g7

Step 3: Multiply the ENTIRE EQUATION and then add/subtract. Solve.

Step 4: Plug back in to find the other variable. 4 3 /) ]

Solution:
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< X
1 37

L3x+iy=—

é ) xl2
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_jax v Ay =27
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(3,7

X /f/éo(i =/ g
%Xi/éa‘i = 196
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Elimination HW

2Xx-3y=-4
2X+Yy=4

2. 5x - 6y =-32
3X + 6y =48



6x + 3y =24
3. dx+3y=18

4. .
2x-3y=12
dx+3y=42.



—2x + 6y =-26
8x + 6y =-16.

—2x+4y=10
-2x+ y=1.



Ix=5y+2

7 y=3x-10.
PART 2:
5x+y=9
HW 1: {10x _7y=-18



2x+ 10y =2
HW 2: {3x—5y= _17

6x+5y=7
HW 3: {2x—4y= 26



4x+2y =8

HW4: {3x +3y=9

8x+3y=-7

HWS: {7x +2y=-3



